
NOTE: MOUNT FAUCET STOP ON FAUCET WITH
U-BOLTS PROVIDED.  OPEN END OF CHANNEL
SHOULD LIMIT MOTION OF FAUCET.

INSTALLATION INSTRUCTIONS:
1.  INSTALL FAUCET ARM ON MOUNTED FAUCET
     AND POSITION ARM TOWA4RD FRONT OF UNIT.

2.  LOCATE FAUCET STOP ON REAR OF FAUCET.
     INSTALL 1/4" X 1-1/4" U-BOLT INTO UPPER
     HOLES ON STOP.  INSTALL 1/4-20 NUTS ON
     U-BOLT AND TIGHTEN FINGER TIGHT.

3.  INSTALL 5/16" X 1-3/4" U-BOLT INTO LOWER
     HOLES ON STOP.  INSTALL 5/16-18 NUTS
     ON U-BOLT AND TIGHTEN.

4.  CHECK TRAVEL OF FAUCET ARM TO VERIFY
     LIMITED MOTION.

5.  SECURELY TIGHTEN ALL NUTS TO LOCK
     FAUCET STOP IN POSITION.

FAUCET ARM
WITH EXTENSION

FAUCET STOP

1/4" X 1-1/4" U-BOLT

5/16" X 1-3/4" U-BOLT

NUT

NUT
WASHER

FRONT VIEW

819-5351  8/98


